SCORE: /15 PTS

Using the definition of the derivative, prove the derivative of COS x .
NOTE: You may use the values of the two special limits proved in class without reproving them, if you state the values of those limits.
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MULTIPLE CHOICE, Circle the correct answer. Show work to prove your answer is correct. SCORE: /20 PTS

Which of the following curves is orthogonal to the curve y = In(csc x + cot x) ?
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A 10 foot long ladder leans against a wall. If the bottom of the ladder is being pulled away from the wall at 2 ft SCORE: /25 PTS

per second, how quickly is the area between the ladder, the wall and the ground changing when the top of the ladder is 6 ft above the ground ?
NOTE: Give the units of your final answer. State clearly whether the area is growing or shrinking.
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If £(x)=(tanx)® *, find f'(x). SCORE: /25 PTS

\D—PCX>:’ C/OS—‘%\V\’}’CW\ XK
Y % I 3
£GO - [ — In Az + COS x-%l—ﬂ—; §€C™X
O O e
"!’&—k\ Pal m“i




s T
Find the equation of the normal line to the curve tan™' (5x + y*) = — at (1, —2) SCORE: /25 PTS
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Let f(x)= > 1

[a] If x changes from 1 to 1.2, find dy .
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[b] Approximate f(1.2).
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